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01 AtE22(Hl 500 500 0
OF4&E NZEA 500
= 250
Al 250
=2 =& K& 6,000 6,000 0
Al 3,000
- 3,000
301 LEtE A= 6,000 6,000 0
Al 3,000
- 3,000
12 JIEtE 4= 6,000 6,000 0
Oz=9 =4X& 6,000
Al 3,000
- 3,000
Rllss 2adl X2 30,000 33,400 23,400
Al 6,200
- 23,800
201 LetEI| 30,000 33,400 A3,400
Al 6,200
- 23,800
01 AtE22/Hl 30,000 33,400 23,400
ORJIsE 23Hl N 100, 000& 3000t 2| 30,000
Al 6,200
- 23,800
S=2SE M=4 7,500 0 7,500
201 LEH2HH| 7,500 0 7,500
01 AtSR22/Hl 7,500 0 7,500
O=288E Mzdl N& 15,000& *5000t2l 7,500
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307 212t01& 600 0 600
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- 1,000
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OZdd HEES 2,000 *1,0000te2 2,000
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- 1,000
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A 1,350
2 1,350
201 Yereoty| 2,700 0 2,700
Al 1,350
2 1,350
01 A2t 2,700 0 2,700
OO0l TNR Al A 100,000 %270} 2| 2,700
Al 1,350
2 1,350
SIS DIHMOHE SIst SAE S4 2,789,530 2,580,616 208,914
= 989,413
= 460,800
Al 727,316
2 612,001
SAE E4 o el 1,804,205 1,740,487 63,718
= 479,961
= 460,800
Al 611,042
2 252,402
MNEES ALY 11,271 8,670 2,601
201 Yer2 Y| 11,271 8,670 2,601
01 A2l 5,471 3,950 1,521
ORSARNIH U7 2,000
—Qi2rm 100,000 %1074 1,000
-840} 100,000 %1074 1,000
OUXIZ™E TP 2,421
— 840} 100,000 +77H 700
—Qi2tm 100,000 +77H 700
-z 25 255.2121 %4, 0000H 1,021
OUXIHS & 2HHS SLHIA
7,00021 %102 152 1,050
02 BB 5,800 4,720 1,080
OS2I HaF &II23 110,000 %122 1,320
OS2 ®IIK3 40,0009 122 480
OSTHIHII RXIbI 1,000, 00024 +1CH 1,000
OSZA AT R 500,0002 +23l 1,000
Os=E RN 200, 0002 *4TH 800
OS2I 2l 50,0002 *4CH 600
OnYse 2LI| RN 300,000 *2CH 600
S8, XY XA At 7,700 5,800 1,900
201 Yer2o| 1,400 1,400 0
03 A2 | 1,400 1,400 0
OASUSA S| 7,0002 %200 1,400
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= 389,535
Al 80,505
T 185,512
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= 2,620
Al 1,324
T 756

a]] 4,700 0 4,700
o=+l 2,700
= 1,620
Al 324
T 756
Osegte 2,000
= 1,000
Al 1,000

301 et as 11,250 0 11,250
11,070
54
126
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H
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270
54
126
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401 AIEHIZL 20U 636, 152 162,531 473,621
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183,664
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= 1,350
Al 270
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OUZ=IN(SSAEIRII A ) 1,200
= 720
Al 144
- 336
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= 2,916
Al 875
- 2,041
401 Al YIS OHYI 5,832 46,669 ~40,837
= 2,916
Al 875
- 2,041
01 AlZHI 5,832 46,669 N40,837
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= 2,916
Al 875
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= 27,510
Al 19,257
T 44,933
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= 27,510
Al 19,257
- 44,933
01 Al&HI 91,700 30,567 61,133
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Al 19,257
- 44,933
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- 945
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- 945
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01 Al&H] 900,000 800,000 100,000
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Al 450,000
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401 AlAHIL 20| 120,000 0 20,000
2 60,000
Al 60,000
01 Al&H] 120,000 0 120,000
O%}24 MSHH HLALY 120,000
2 60,000
Al 60,000
AT Al 985,325 840, 129 145,196
2 509,452
Al 116,274
, 2 359,599
NEELEXY 583,899 500,660 83,239
2 351,103
Al 69,832
2 162,964
401 AlAHIL 20| 561,899 492,410 69,489
2 340, 103
Al 66,533
2 155,263
01 Al&t] 561,899 492,410 69,489
OUEHHNE 2H 561,899
2 340, 103
Al 66,533
2 155,263
405 XHAHE S 22,000 8,250 13,750
2 1,000
Al 3,299
2 7,701
01 RAUSEH S| 22,000 8,250 13,750
OIS (M LHE) P 750, 00024 *3CH 2,250
2 1,125
Al 337
2 788
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AFE X RHH AR 64,341 57,529 6,812
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04 JIAH2ENSE S 29,893 26,851 3,042
O MERTLN(ZL2Y) 29,893
—olgel 43,7712 %42+ 1502 26,263
-2 3,630
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01 AtR2telt| 21,011 19,230 1,781
OMEYX HH7Y 6,750
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OntgBALH =R 1,271
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- O, EER S 250
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OuE2TS 45,000
= 18,000
Al 8,100
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MEABIASE 98,506 89,600 8,906
= 59,103
Al 11,820
- 27,583

101 144l 92,202 85,654 6,548
= 55,320
Al 11,064
- 25,818

04 DJI2tHMIZ2 92,202 85,654 6,548
O=dld 26,344
= 15,806
Al 3,161
- 7,377
OEAl=X2tel 52,688
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Al 6,323
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O£3CIUIO0IE & Z| 311
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Al 37
2 87

202 OfH| 3,354 1,296 2,058
2 2,012
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3 939

01 =UH0iI 3,354 1,296 2,058
OM&I DKo 848
2 509
Al 102
2 237
OZAI=XZ2Y DS Ol 1,697
=2 1,018
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OstD£ICIUOIH D] 424
=2 254
Al 51
2 119
Ol &L SX 2ol ot 110
2 66
Al 13
2 31
OZAl=Xlgelg X 2ol ot 220
=2 132
Al 26
2 62
OstR=IJCIUO0IE X =0l oft] 55
=2 33
Al 7
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Al 91
3 216

10 BAAHI 2 A2 769 0 769
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2 24
Al 4
? 11
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OdH4&I} ] 200
2 120
Al 24
? 56
OZAsX22 D] 400
2 240
Al 48
? 112
OstW£ACUOIH 1S 100
2 60
Al 12
2 28
MBI A HIA20F Q12 A | 46,413 0 46,413
2 22,380
? 24,083
301 LEENS 46,413 0 46,413
2 22,380
2 24,083
09 BA2LALAS 46,413 0 46,413
OBAZ2R QA=A 46,413
-23 14,400
2 14,400
- sl 7,980
2 7,980
-S4 19,800
- I = 4,233
RS AR EA 217,565 178,650 38,915
CAsE 28 L e 217,565 178,650 38,915
=X Y LRE 2 120,053 107,052 13,001
101 Q1214 63,649 56,949 6,700
04 JIZHHMZ22USES 63,649 56,949 6,700
Ostetzre] 19,260
-HEEY 43,7702 x2% »90Y 7,879
- A 43,7702 x22 %90 7,879
-2 IME 23 43,7702 5 1Y+80L 3,502
Oz zel 10,506
- 43,7702 2% #40 3,502
-XFE2, 24, Al 43,7709 =22 »80Y 7,004
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—xdF= 43,7702 x1H*190 8,317
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OdMIMEEZ 58,303,000& *0.7% 409
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OLelFIIAEE = 1,481,000% *4.78% 71
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02 =234l 29,854 26,381 3,473
ogaadad = 120,000 «12& 1,440
OZZAE 2= 2= 2,400
-=ER3 60,0003 34 £ +10& 1,800
-NIIe3 20,0003 3 £ +10& 600
ORAMUNEESA sttt =523 50,0008 128 600
Oot=d & dIIes 50,000& »12& 600
OXtS A 45,0003 *1CH 13 45
OXS XM (SE=Xt) 58,500 *1CH*13] 59
OXsieega 450,000& *1CH =13 450
OXNSIHEES(S=I) 437,000 *1CH*13] 437
O =RE= 110,000& 1 CH»22] 220
OIMHRLY S (SR 68,5003 »1CH»22] 137
OHEIHA LA === 33,0002 +20H*123] 66
OXsSx EIIEM 25,0003 »2CH*13] 50
OXrg s Xl 7,000,000& = 1CH 7,000
OXrg KXl 4,000,000& = 1CH 4,000
Os=x g PNkl
3,000, 0002 = 1CH 3,000
Ostet=XItH & =Xl 950
Ol = 0| 150,000 *3[H 450
= 100, 000& *3CH 300
-—SEMED| 100, 0002 *2CH 200
OsgE=220| 200, 0002 *1CH 200
OZ&2J1 | 400,000 «1CH 400
OsdEZ » 300,000 *1CH 300
OLM+=2 0ARY (H52,330) YRt
500,000 «15CH 7,500
206 M=l 26,150 23,722 2,428
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- SL(AZELAIOIE S 98)
10,000& 200 2,000
K== 6,000& 100 600
-G HH(S018 113 10,0003 = 100K 1,000
-=Xe&3ddt8l Ot 2003 +5,000& 1,000
-=3t8 = 500,000 » 14! 500
FArEZ 2tel XY 2,350
-HIE(=&Hlg S 43) 7,000& 1004 700
-s%(2UE S 113) 10,000& =40 400
- JIEtXHIH (DL S) 6,000& 100 600
-G FHHI(S0l S 118) 10,0002 504 500
- =30t} S 150, 0003 14 150
oG 22| Xt 16,600
- X3S A 20,000& *300= 6,000
~IE8 E(0ANE S 23)
30,000& =100 3,000
-HIE2(=&Hlg S 43 7,000 3004 2,100
-s%(=2U S 48) 10,000& *100& 1,000
—-HlIE 100,000& 202 2,000
-2=2%H 2,000&*1,000m 2,000
— DI EFXHIH 500,000 =14 500
405 AHoHESHI 400 0 400
01 T =S FH SHI 400 0 400
OJtZ2== & =AW 22 Fbl 400
— Ol =01 400,000 = 1CH 400
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101 @1 ZH| 23,838 18,178 5,660
04 JIZHNIZ2XESE = 23,838 18,178 5,660
o3& &2 19,261
- H=& 43,7713 +2F+70L 6,128
-=SdF 43,7713 «2F+50 4,378
-3 &l 43,771%x2H 100 8,755
o= 8x=g 43,77121%340 /5L 2,977
OnEEEE 17,861,000& *1.3% 233
Ot MEEZ 17,861,000& +0.5% 90
OH=RE=2 17,861,000 *4. 5% 804
O=0AAdE8= 17,861,000& »2.54% 454
@)=:)= 454,000& *4.05% 19
201 Yer2y| 40,594 30,420 10, 174




FAN: =X
B e CAIZD EH
&2 SAl=sE 24 & o2t &
SN I SRI(S) - NRAY - B sk S 2
0f 4 o8
01 AtSR22/Hl 5,000 1,500 3,500
OZ3ANE= 2el==4Hl 5,000, 000& 14 5,000
02 2234l 35,594 28,920 6,674
OHEA(MHESZIAI JEHIU)22 22 8,400
-HIIe3 200,000& «12& 2,400
== 500,000& «12& 6,000
OFEs =00t 223 15,000
-=ER3 1,500,000& 68 9,000
-NIIe3 500,000& «12& 6,000
OBE0e o2 2ee=s 2,980
-=E23(3E4A) 80,000& »12& 960
-&8IIR3 85,000& »12& 1,020
-st&4s |RXNE=H] 1,000,000& * 14! 1,000
ORMIS2HIIRS 20,000 123 240
OIS 5,000& <128 60
Oz&22 =Xl 1,200
=0l 52| 300, 000& +2CH 600
= 300, 000& +2CH 600
O=0I0tE 942+ SN2
3,000, 000& 14 3,000
O3 X=Xl 4,714
-IEEE=E 354,000& =13 = 1CH 354
-SFNERE=S 80,0003 »23| »1CH 160
- Xt &S Al 350,000 «12& 4,200
206 M=l 11,200 10,500 700
01 M=H| 11,200 10,500 700
O3& ==2cl N 3,000
-H=(=&HIE2 35 7,000 »200 % 1,400
-s%(ZLE2 108) 10,000& =100 1,000
-X== 6,000& *100= 600
O3& HIX ¥ =01J17 2tel XMyl 8,200
—HeE S 60,0003 x20S 1,200
— Bl Xl 400,000& * 104 4,000
-2 30,000& =100m’ 3,000
307 S12t01& 500 500 0
06 23 500 500 0
ONZ0IS& Eoliths MUSE TUHRES
100,000& 52 500
401 Al EHIL 201 20,000 11,000 9,000
01 Al&HI 20,000 11,000 9,000
O0EolZ3U ZHIAY 20,000




SN

& SAF2 =4
el =3 &4 & 2l
HH .o (B) - NRAY - BaS Aol e
QItXt=01 M 1,380
QIZHCH &AM HI 1,380
ORQFHANABESZ 115,000& = 12& 1,380
HE2IHH (s =X1) 193,870
o3 2 gl 119,933
oled 2| 119,933
101 14| 115,733
03 RIHAZZHE > 115,733
OoJl== 1,117,570&3 #1238 x3Y 40,233
OXt eI+ 409,4503 x 14 x4 3] 1,638
OFVEE, 27,846
=J|2a=g 20,250,840% x1/12%50%*43] 3 10,126
-¥24+9 20,250,840 x1/12%50%*23] *3H 5,063
- Xty
20,250,8403 *1/12+50%+53| *3H 12,657
OFSELE=) 8,640
- ItE==g 40,0003 x6H +12& 2,880
- SRy 90,0003 +x3¥ x12& 3,240
- Hg&esg 70,0003 38 122 2,520
OS2l = 4| 20,836
—JHUZ A 160,000 3 122 5,760
—JHAIE =l 110,000& »3H «12& 3,960
- WsSEXH| 140,000& x3H 12 5,040
—ZEF0H|
20,250,8403 *1/12+60%*23| *3H 6,076
o=z 10,735
—-s5g2Ry 97,5803 x20 x3H 5,855
- R ESFII==Y 81,320 x202 x3H 4,880
OFl 4| 100,000 *3¥ 123 3,600
OLOH 21 = AtHI 50,0003 x3E x12& 1,800
OoHetial XI&Hl 20,000& »23| x3H 120
Ol =l 285
—2st= 40,0003 »3H 120
-&g= 30,000& x3H 90
— ot& 3t 25,0003 3% 75
=R 4,200
04 ENBILSZ=EH| 4,200
ORNSZIRFAH 350,000& = 12& 4,200
=3y 73,987
Jle=3| 73,937




FAN: =X
FH: HHR2IAH (sY=X D)
&t D=3l (ctel: &
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
201 LetEdH| 16,337 17,354 A1,017
01 AtE22/Hl 16,337 17,354 21,017
O=AMEXTY 1,784
- S ALS Xl (Ad) 18,0003 788 A 1,404
- S ALS Xl (A3) 19,0003 20 A 380
(@)JE Engel 3,753
-T2l 175,000 *4CH 52| 3,500
—-FAX EU 88,000& »1CH*13l 88
-SAMI EH 55,000& »1CH*33] 165
OFAN2ZE JIZ2=2H| 10,0002 20 » 123 2,400
OAlZtel 22X =4l
7,000 *541x20H x 12 8,400
202 O4Hl 57,600 48,000 9,600
01 =Wl 57,600 48,000 9,600
O8I 240,000 «20H =128 57,600




